LABO001 - Ladder Diagram Page 1

PWP:MainTask:MainProgram 3/29/2010 12:22:31 PM
Total number of rungs in routine: 8 E:\ProWorx32.ACD
- Network24
Passes
Power
MO00029
SBR <MO[1].3>
0 Subroutine
e BLKT
e Hold Pointer
e M10144
e <M1[8].0>
1 e alla
e
BLKT
BLKT Move
Control Complete
M10143 M00324
<M1[8].1> COP <M0[20].12>
2 { F Copy File
Source  M4[576]
Dest  M4[587] BLKT
Length 10 Error
MO00325
<MO0[20].11>
e BLKT
e Reset Pointer
e M10145
e <M1[9].15>
3 e 1 E
e
e TBLK
e Hold Pointer
e M10147
e <M1[9].13>
4 e alls
e
TBLK
TBLK Move
Control Complete
M10146 M00326
<M1[9].14> —COP——— <MO0[20].10>
5 H F Copy File
Source  M4[597]
Dest  M4[611] UEES
Length 10 =T}
M00327
<MO0[20].9>
e TBLK
e Reset
e Pointer
e M10148
e | <M1[9].12>
6 e 1 E
e

RSLogix 5000




LABO0O1 - Ladder Diagram Page 2
PWP:MainTask:MainProgram 3/29/2010 12:22:32 PM
Total number of rungs in routine: 8 E:\ProWorx32.ACD

(End)

- Netwok25
——RET————

Return from Subroutine

RSLogix 5000
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Total number of rungs in routine: 5 E:\ProWorx32.ACD
JSR
0 Jump To Subroutine

Routine Name Segment_01

JSR
1 Jump To Subroutine
Routine Name Segment_02

JSR
2 Jump To Subroutine
Routine Name Segment_03

JSR
3 Jump To Subroutine
Routine Name Segment_04

JSR
4 Jump To Subroutine
Routine Name Segment_05

(End)

RSLogix 5000
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E:\ProWorx32.ACD

This is the This is the
description description
for 10001 for 00001
SYM_10001 OUT_00001
<MODMaster:0:1.Data[0].0> <MODMaster:0:0.Data[0].0>
1 E
This is the This is the
description description
for 10002 for 00002
SYM_10002 OUT_00002
<MODMaster:0:l.Data[0].1> <MODMaster:0:0.Data[0].1>
1 E
This is the This is the
description description
for 10003 for 00003
SYM_10003 M00003
<MODMaster:0:l.Data[0].2> <MODMaster:0:0.Data[0].2>
| —
This is the This is the
description description
for 10004 for 00004
SYM_10004 M00004

<MODMaster:0:1.Data[0].3>
| ——

<MODMaster:0:0.Data[0].3>

RSLogix 5000
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Total number of rungs in routine: 23 E:\ProWorx32.ACD
This is the This is the This is the
description description description
for 10005 for 10006 for 10007
SYM_10005 M10006 M10007
<MODMaster:0:l.Data[0].4> <MODMaster:0:l.Data[0].5> <MODMaster:0:l.Data[0].6>
: 1T 1T ]: t .
This is the
description
for 10008
M10008
<MODMaster:0:l.Data[0].7>
1 E
This is the This is the This is the
description description description
for 10009 for 10010 for 10011
M10009 M10010 M10011
<MODMaster:0:l.Data[0].8> <MODMaster:0:l.Data[0].9> <MODMaster:0:l.Data[0].10>

|[—— e | eee—— —

This is the This is the This is the

description description description
for 10012 for 10013 for 10014
M10012 M10013 M10014

<MODMaster:0:l.Data[0].11> <MODMaster:0:l.Data[0].12> <MODMaster:0:l.Data[0].13>
[—— ee——— | eee—— —— |

This is the This is the
description description
for 10015 for 10016
M10015 M10016
<MODMaster:0:1.Data[0].14> <MODMaster:0:l.Data[0].15>
| e————
This is the
description
for 00005
M00005

<MODMaster:0:0.Data[0].4>

This is a
positive
transition
for 10017
M10017
<MA1[1].15> OSR
5 4 F One Shot Rising
Storage Bit P_OneShotArray[0] —(SB)—
Output Bit P_OneShotArray[1] OB —

RSLogix 5000
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Total number of rungs in routine: 23 E:\ProWorx32.ACD
This is a
negative
transition
for 10021
M10021
<M1[1].11> OSF
5 F One Shot Falling
Storage Bit N_OneShotArray[0] H(SB)—
Output Bit N_OneShotArray[1] —(OB —
This is a
positive
transition
not as the
first contact
M10018
<M1[1].14> OSR
4 F One Shot Rising
Storage Bit P_OneShotArray[2] —(SB)—
Output Bit P_OneShotArray[3] -(OB)—
This is a
negative
transition
not as the
first contact
M10022
<M1[1].10> OSF
8 5 F One Shot Falling
Storage Bit N_OneShotArray[2] —(SB )—
Output Bit N_OneShotArray[3] (OB )—
This is a
positive
transition
not as the
first contact
M10019
<M1[1].13> OSR
9 4 F One Shot Rising
Storage Bit P_OneShotArray[4] —(SB —
Output Bit P_OneShotArray[5] —_ OB )>—
This is a
negative
transition
not as the
first contact
M00006
<MODMaster:0:0.Data[0].5> OSF
10 5 E One Shot Falling
Storage Bit N_OneShotArray[4] —(SB )—
Output Bit N_OneShotArray[5] OB )—

RSLogix 5000
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E:\ProWorx32.ACD

This is a
positive
transition
not as the
first contact
M10020
<M1[1].12> OSR
11 5 F One Shot Rising
Storage Bit P_OneShotArray[6] —(SB )—
Output Bit P_OneShotArray[7] OB )—
This is a
negative
transition
not as the
first contact
MO00007
<MODMaster:0:0.Data[0].6> OSF
12 H F One Shot Falling
Storage Bit N_OneShotArray[6] —(SB)—
Output Bit N_OneShotArray[7] (OB )—
This is the
description
for 00030
M00030
P_OneShotArray[1] = P_OneShotArray[3] P_OneShotArray[5] P_OneShotArray[7] <MO[1].2>
13 1 E 1 E 1 E 1 E
N_OneShotArray[1] = N_OneShotArray[3] = N_OneShotArray[5] N_OneShotArray[7]
1 E 1 E 1 E 1 E
This is the This is the This is the This is the
description  description  description  description
for 10023 for 10024 for 10025 for 10032
M10023 M10024 M10025 M10032
<M1[1].9> <M1[1].8> <M1[1].7> <M1[1].0> BitArray[0]
14 1 E 1 E 1 E =
This is a
retentive
coll
M00024
BitArray[0] <MO[1].8>
15 q F L
This is a
retentive
coll
M00024
BitArray[0] <MO[1].8>
/ U
SKIP3
16 JMP —

RSLogix 5000
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Total number of rungs in routine: 23 E:\ProWorx32.ACD
SKIP3
17 — LBL ! { NOP |
M10256 M10258 M10259 M00400
<M1[15].0> <M1[16].14> <M1[16].13> <MO0[24].0>
18 1 E 1 E 1 E
M10257
<M1[16].15>
0 C
I C
e M10260
e <M1H16g.12>
19 e —1 AFI | H F
e
M10256 M00401
<M1[15].0> <MO0[25].15>
I
M10257
<M1[16].15>
0 C
I C
M10261 M10262 M10265
<M1H16g.11> <M1H16g.10> <M141fr5].7>
I C I C I C
M10261 M10262 M10263 M10264
<M1[16].11> <M1[16].10> <M1[16].9> <M1[16].8>
0 C 0 C TC TC
I C I C I C I C
M10261 M10262 M10263 M00402
<M1H16r].11> <M1H16r].10> <Mu16].9> <MO0[25].14>
21 JC JC 1 E
M00403
<M0[25].13>
22 1 AFI |
(End)

RSLogix 5000
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PWP:MainTask:MainProgram 3/29/2010 12:22:43 PM
Total number of rungs in routine: 26 E:\ProWorx32.ACD
UCTR
Control
M10033 Up Counter
<M1[2].15> BitArray[1] BitArray[1]  BitArray[2] CTU
0 1 b 1 F 1 F Count Up —(CUD>——
Counter C40001
BitArray[2] Preset 1000 —(DN —
Accum 0
UCTR
Count=Preset
Up Counter MO00008
C40001.DN <MODMaster:0:0.Data[0].7>
1 ] E
UCTR
Count<Preset
Up Counter MO00009
C40001.DN <MODMaster:0:0.Data[0].8>
| =
DCTR
Control
M10034 Down Counter
<M1[2].14> BitArray[3] BitArray[3]  BitArray[4] MOV
2 1 E J E J E Move
DCTR Source M4[2]
EneblE/iNEssl Dest C40003 PRE
M10035 0
<M1[2].13> BitArray[4]
1 E
Down Counter
CTD
Count Down —_(Ccb)—
Counter C40003
Preset 0 H(DN)—
Accum 0

RSLogix 5000
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E:\ProWorx32.ACD

Down Counter

3 Equal

Source B

EQU

Source A C40003.ACC

DCTR
Count=0
MO00010

<MODMaster:0:0.Data[0].9>

0
0

Down Counter
C40003.DN
/

Down Counter

NEQ
Not Equal
Source A C40003.ACC
0
Source B 0

DCTR
Count>0 and
Count<Preset

MO00011

<MODMaster:0:0.Data[0].10>

Up Counter
BitArray[2] C40001
4 e/ L RES ——
Up Counter
MOV
5 Move
Source C40001.ACC
0
Dest M4[1]
3
Down Counter
BitArray[4] C40003
6 e/ L RES —
Down Counter
MOV
7 Move

Dest

Source C40003.ACC

0
M4[3]
2

T1.0
Control
M10036 Timer 1.0
<M142L12> TON
8 H b Timer On Delay —CENDO—

Timer T40004
Preset 60000 DN )—
Accum 0

RSLogix 5000
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Total number of rungs in routine: 26 E:\ProWorx32.ACD
T1.0
Timer=Preset
Timer 1.0 MO00012
T40004.DN <MODMaster:0:0.Data[0].11>
9 1 E
TO.1
Control
M10037 Timer 0.1
<M1[2].11> BitArray[5] BitArray[5]  BitArray[6] MUL
10 = 1 E 1 E Multiply
T0.1 Source A Mggg
Enable/Reset
M10038 Source B 100
<M1[2].10>  BitArray[6] Dest T40005.PRE
1 L 0
Timer 0.1
RTO
Retentive Timer On —(EN >—
Timer T40005
Preset 0 —(DN)—
Accum 0
TO.1
Timer=Preset
Timer 0.1 M00013
T40005.DN <MODMaster:0:0.Data[0].12>
11 q F
TO.1
Timer<Preset
Timer 0.1 M00014
T40005.DN <MODMaster:0:0.Data[0].13>
/8
T.01
Control
M10039 Timer 0.01
<M1[2].9> MUL
12 q F Multiply
Source A M4[6]
3000
Source B 10
Dest T40007.PRE
0
Timer 0.01
TON
Timer On Delay —CEND)—
Timer T40007
Preset 0 H(DN)—
Accum 0

RSLogix 5000
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E:\ProWorx32.ACD

13

14

15

16

17

18

Timer 0.01
T40007.DN

|

T.01
Timer<Preset
MO00015

<MODMaster:0:0.Data[0].14>

Timer 1.0
DIV

BitArray[6]
/

Divide

Source A T40004.ACC
0

Source B 1000

Dest M4[4]
0

Timer 0.1
T40005

Timer 0.1

RES ——

DIV
Divide
Source A T40005.ACC
0
Source B 100

Dest M4[5]
0

Timer 0.01
DIV

Divide
Instruction

Divide

Source A T40007.ACC
0

Source B 10

Dest M4[7]
0

DIV
Divide
Source A M4[14]
60
Source B 10

Dest M4[15]
6

MOD

Modulo

Source A M4[14]
60

Source B 10

Dest M4[16]
0

RSLogix 5000
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E:\ProWorx32.ACD

Multiply
Instruction

19

20

MUL
Multiply
Source A 10

Source B M4[12]
6

Dest M4[13]
0

21

Subtract
Instruction

——SUB——

Subtract
Source A M4[9]
9
Source B M4[10]
10
Dest M4[11]
1

Addition
instruction
ADD

Add
Source A M4[8]
8

Source B 1

Dest M4[8]
8

RSLogix 5000
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E:\ProWorx32.ACD

22

23

24

SUB SUB
Control Top>Middle
M10040 M00041

<M1[24.8> GRT <MO0[2].7>
5k Greater Than (A>B)
Source A M4[17]
76
Source B 100
SUB
Top=Middle
M00042
EQU <M0[2].6>
Equal
Source A M4[17]
76
Source B 100
SUB
Top<Middle
M00043
LES <M0[2].5>
Less Than (A<B)
Source A M4[17]
76
Source B 100

SUB SUB
Control Top>=Middle
M10041 M00044

<M1[2].7> GEQ <MO0[2].4>

q F Grtr Than or Eql (A>=B)

Source A M4[17]
76
Source B 100

SUB
Control
M10042
<M1 [24.6> LEQ
H F Less Than or Eql (A<=B)
Source A M4[18]
0
Source B 100

SUB
Top<=Middle
M00045
<M0[2].3>

RSLogix 5000
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Total number of rungs in routine: 26 E:\ProWorx32.ACD
SUB SUB
Control SUB Top>Middle
M10043 Instruction M00046
<M1[2].5> ——SUB—— GRT <MO0[2].2>
25 5 F Subtract Greater Than (A>B)
Source A M4[19] Source A M4[19]
0 0
Source B M4[20] Source B M4[20]
0 0
Dest M4[21]
0 sUB
Top=Middle
M00047
—EQU—— <MO0[2].1>
Equal
Source A M4[19]
0
Source B M4[20]
0
SUB
Top<Middle
M00048
LES <MO0[2].0>
Less Than (A<B)
Source A M4[19]
0
Source B M4[20]
0
(End)

RSLogix 5000
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E:\ProWorx32.ACD

AND
on one register
AND FAL
0 Bitwise AND File Arith/Logical —CEND>—
Source A M1[3] Control Ctrl00
0 Length 20 —(DN)—
Source B M4[22] Position 0
0 Mode ALL —CER)—
Dest M4[22] Dest M4[43+Ctrl00.POS]
0 0
Expression M4[23+Ctrl00.POS] AND M4[43+Ctrl00.POS]
Ctrl00.EN
E U—
OR
on one register
OR FAL
1 Bitwise Inclusive OR File Arith/Logical —CEND—
Source A M1[4] Control Ctrl01
0 Length 20 —(DN)>—
Source B M4[63] Position 0
0 Mode ALL -CER)—
Dest M4[63] Dest M4[84+Ctrl01.POS]
0 0
Expression M4[64+Ctrl01.POS] OR M4[84+Ctrl01.POS]
Ctrl01.EN
E U—
COMPlement
on one resister
NOT FAL Ctrl02.EN
2 Bitwise NOT File Arith/Logical —CEN U
Source  M4[104] Control Ctrl02
0 Length 20 —(DN)—
Dest M4[105] Position 0
0 Mode ALL - CER)—
Dest M4[126+Ctrl02.POS]
0
Expression NOT M4[106+Ctrl02.POS]

RSLogix 5000
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Total number of rungs in routine: 38 E:\ProWorx32.ACD
XOR
on one register
XOR FAL
3 Bitwise Exclusive OR File Arith/Logical —CEND—
Source A MA4[146] Control Ctrl03
0 Length 20 —(DN)>—
Source B M4[147] Position 0
0 Mode ALL -CER)—
Dest M4[147] Dest M4[168+Ctrl03.POS]
0 0
Expression M4[148+Ctrl03.POS] OR M4[168+Ctrl03.POS]
Ctrl03.EN
E U—-
SKP
Control
M10026
<M1[1].6> N14
4 =/ JMP)—
e R->T
e Prevent
e Pointer
e Increment
e M10028
e <M1 [19.4>
5 e i E
e
R->T
Control R->T
M10027 on one register
<M1 [1r1.5> FAL
6 H F File Arith/Logical —CEND)——
Control R40188
Length 1 —(DN >—
Position 0
Mode 1 —(ER)>—
Dest M4[189+R40188.POS]
0
Expression M1[5]
Passes
R->T Power
on one register MO00034
R40188.EN <M0[2].14>
7 1 E
R->T
Pointer at
R->T top of table
on one register MO00035
R40718§.DN <M0[2].13>
1

RSLogix 5000
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R->T
Reset R->T
M10029 on one register
<M1[1].3> R40188
8 5 F RES —
e R->T
e Prevent
e Pointer
e Increase
e M10031
e <M1[1].1>
9 e 1 E
e
R->T R->T
Control on 20
M10030 registers
<M1[1].2> FAL
10 5 F File Arith/Logical —CEND)——
Control R40191
Length 20 —(DN)—
Position 0
Mode 1 —(ER)—
Dest M4[192+R40191.POS]
0
Expression M4[190]
R->T Passes
on 20 Power
registers MO00036
R40191.EN <MO0[2].12>
11 1 E
R->T
R->T Pointer at
on 20 top of table
registers MO00037
R40191.DN  <MO[2].11>
1 E
R->T R->T
Reset on 20
M10044 registers
<M1[2].4> R40191
12 5 F RES
R->T
on one register
ADD
13 Add
Source A R40188.POS
0
Source B 1
Dest M4[188]
0

RSLogix 5000
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R->T
on 20
registers
ADD
14 Add
Source A R40191.POS
0
Source B 1
Dest M4[191]
0
e Network13
e T->R
e Prevent
e Pointer
e Increase
e M10046
e <M1[2].2>
15 e H F
e
e
T->R
Control T->R
M10045 on one register
<M1[2].3> FAL
16 5 F File Arith/Logical —CENDO—
Control R40213
Length 1 —(DN >—
Position 0
Mode 1 —(ER)>—
Dest M4[214]
0
Expression M4[212+R40213.POS]
Passes
T->R Power
on one register MO00038
R40213.EN <M0[2].10>
17 J E
T->R
Pointer at
T->R top of table
on one register MO00039
R40213.DN <M0[2].9>
J E
T->R
Reset T->R
M10047 on one register
<M1[2].1> R40213
18 q F RES ——
e T->R
e Prevent
e Pointer
e Increase
e M10113
e <M1[7].15>
19 e H F
e

RSLogix 5000
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T->R T->R
Control on 20
M10048 registers
<M1[2].0> FAL
20 5 F File Arith/Logical —CEND)—
Control R40216
Length 20 —(DN>—
Position 0
Mode 1 —(ER)—
Dest M4[217]
0
Expression M4[215+R40216.POS]
T->R Passes
on 20 Power
registers M00040
R40216.EN <M0[2].8>
21 5 E
T->R
T->R Pointer at
on 20 top of table
registers MO00065
R40216.DN  <MO0[4].15>
1 E
T->R T->R
Reset on 20
M10114 registers
<M1[7].14> R40216
22 H F RES
T->R
on one register
ADD
23 Add
Source A R40213.POS
0
Source B 1
Dest M4[213]
0
T->R
on 20
registers
ADD
24 Add
Source A R40216.POS
0
Source B 1
Dest M4[216]
0
e Networkt4
: N14
25 o — LBL |
e
e

RSLogix 5000
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e T->T
e Prevents
e Pointer
e Increase
e M10116
e <M1[7].12>
26 e 5 F
e
T->T
Control T->T
M10115 on one register
<M1[7].13> FAL
27 5 F File Arith/Logical —CEND)——
Control R40236
Length 1 —(DN)>—
Position 0
Mode 1 —(ER )—
Dest M4[237+R40236.POS]
0
Expression M4[235+R40236.POS]
Passes
T->T Power
on one register M00066
R40236.EN <MO0[4].14>
28 5 F
T->T
Pointer at
T->T top of table
on one register MO00067
R40236.DN <MO0[4].13>
i E
T->T
Reset T->T
M10117 on one register
<M1[7].11> R40236
29 ] [ RES ———
e T->T
e Prevents
e Pointer
e Increase
e M10119
e <M1[7].9>
30 e 5 F
e
T->T T->T
Control on 20
M10118 registers
<M1[7].10> FAL
31 5 | File Arith/Logical —CEND)—
Control R40258
Length 20 —(DN)>—
Position 0
Mode 1 —(ER)>—
Dest M4[259+R40258.POS]
0
Expression M4[238+R40258.POS]

RSLogix 5000
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32

33

34

35

36

T->T Passes
on 20 Power
registers MO00068

R40258
qC

EN  <MO[4].12>

T->T
Reset
M10120
<M1[7].8>
I

J L

T->T Pointer at

on 20 top of table
registers MO00069
.DN  <MO[4].11>

R40258

T->T

I
J L

T->T
on 20
registers
R40258

J L

RES

T->T

on one register

Add

Dest

Source A R40236.POS

Source B 1

ADD

0

M4[236]
0

T->T
on 20
registers

Add

Dest

Source A R40258.POS

Source B 1

ADD

0

M4[258]
0

BLKM
on one register

MOV

Move
Source  M4[279]
0

Dest  M4[280]
0

RSLogix 5000
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BLKM
on 20
registers
COP
37 Copy File

Source  M4[281]
Dest M4[301]
Length 20

(End)

RSLogix 5000
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- Networkt6
FIN-FOUT
instruction
———FFL———
0 FIFO Load —CEN O >——
Source M1[6]
FIFO M4[325] DN )—
Control R40324
Length 10 —(EM)—
Position 0
Passes
FIN-FOUT Power
instruction MO00016
R40324.EN <MODMaster:0:0.Data[0].15>
1 ] E
FIN
FIN-FOUT queue full
instruction MO00017
R40324.DN <MO[1].15>
] E
FIN
FIN-FOUT queue empty
instruction MO00018
R40324.EM <MO0[1].14>
] E
FIN-FOUT
instruction
———FFU————
2 FIFO Unload —EU >——
FIFO M4[325]
Dest MO[3] —(DN >—
Control R40324
Length 10 —CEM)—
Position 0
Passes
FIN-FOUT Power
instruction MO00019
R40324.EN <MO[1].13>
3 ] E
FOUT
FIN-FOUT queue full
instruction MO00020
R40324.DN <MO[1].12>
] E
FOUT
FIN-FOUT  queue empty
instruction M00021
R40%32ﬁ.EM <MO[1].11>
JC

RSLogix 5000
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FIN-FOUT
instruction
ADD
4 Add
Source A R40324.POS
0
Source B 1
Dest M4[324]
0
FIN-FOUT
instruction
ADD
5 Add
Source A R40324.POS
0
Source B 1
Dest M4[324]
0
e Network17
e SRCH
e Start search
e at pointer
e register
e M10122
e <M1[7].6>
6 e q F
e
e
SRCH
Control SRCH
M10121 instruction
<M1[7].7> FSC
7 H F File Search/Compare —(EN >——
Control R40335
Length 10 —(DN)—
Position 0
Mode ALL —CER >—
Expression M4[321]=M4[336+R40335.POS]
Passes
SRCH Power
instruction M00077
R40335.EN <MO0[4].3>
8 1 E
SRCH
SRCH match found
instruction MO00031
R40§3?.FD <MO[1].1>
1 C
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E:\ProWorx32.ACD

10

11

12

ODODDODDODODOD

ODODDODODODODOD

GSV

Get System Value

CMPR
Reset
Pointer
M10124
<M1[7].4>
I

Class Name ?
Instance Name ?
Attribute Name ?
Dest ?
7

SRCH

instruction
ADD
Add

Source A R40335.POS
0
Source B 1
Dest M4[335]
0

J L

CMPR
Control
M10123
<M1[7].5>
I

CMPR
instruction
R40339.IN

J L

Copy File

COP——

Source M4[337]
Dest DINTSource[0]

L

Length 1
———COP
Copy File
Source M4[340]
Dest DINTReference[0]
Length 1
CMPR
instruction
FBC
File Bit Comparison —CEN)—
Source DINTSource[0]
Reference DINTReference[0] DN >—
Result DINTResult[0]
Cmp. Control R40339 +(FD)—
Length 16
Position 0 HC(IND>—
Result Control R40339_R
Length 1 —(ER)>—
Position 0
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Passes
CMPR Power
instruction M00078
R40339.EN <MO0[4].2>
13 1 F
CMPR
CMPR miscompare
instruction M00032
R40339.FD <MO[1].0>
1 E
CMPR
state of
miscompare
MO00033
<M0[2].15>
14 —_ AFI |
CMPR
instruction
ADD
15 Add
Source A R40339.POS
0
Source B 1
Dest M4[339]
0
e Network19
e SENS
e Increase
e Pointer
e M10126
e <M1[7].2>
16 e H F
e
e
SENS Passes
Control Power
M10125 M00022
<M1[7].3> <MO0[1].10>
17 H F
SENS
bit result
M00023
M3[2].LM4_338] <MO0[1].9>
1 E
SENS
Reset SENS
Pointer error
M10127 M00025
<M1[7].1> <MO[1].7>
18 5k AFI
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MBIT Passes
Control Power
M10128 M00026
<M1[7].0> <MO[1].6>
19 7 |
MBIT
Set/Clear
Control
M10129
<M1[8].15> BitArray[8] BitArray[9]
20 5 F | ONS |+
BitArray[7]  BitArray[8] M4[357].[M4_341]
J E J E L
BitArre;y[?] BitArrag[S] M4[357].[M4_341]
1 F = /B U
MBIT
MBIT MBIT sense bit
instruction instruction MO00027
LEQ ADD <MO[1].5>
Less Than or Eqgl (A<=B) Add
Source A M4 341 Source A M4_341
<M4[341]> <M4[341]>
0 0
Source B 260 Source B 1
Dest M4_341
<M4[341]>
0
MBIT MBIT
instruction instruction
GRT MOV
Greater Than (A>B) Move
Source A M4_341 Source 0
<M4[341]>
0 Dest M4_341
Source B 260 <M4[341]>
0
MBIT
Increase MBIT
Pointer error
M10130 M00028
<M1[8].14> <MO[1].4>
21 ——— F—{ AFI ]
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e, Network20
e BROT BROT Passes
e Control Source Power
e M10131 Matrix M00079
e <M1[8].13> BSR COP <MO[4].1>
22 e H F Bit Shift Right —EN)———— Copy File
e Array M4[389] Source  M4[389]
e Control Ctrlo4 —(DN)— Dest MOI[5]
e Source Bit Ctrl04.UL Length 15
e Length 240
e
e
e
BROT BROT
Direction Sense Bit
M10132 M00070
<M1[8].12> <MO[4].10>
23 —— —— AFI }
e BROT
e Shift/Rotate
e M10133
e <M1[8].11>
24 e 5 F
e
e Network2t
e READ
e Pause
e Operation
e M10135
e <M1[8].9>
25 e q F
e
e
e READ
e Abort
e Operation
e M10136
e <M1[8].8>
26 e q F
e
READ
Control READ
M10134 Source
<M1[8].10> ARD
27 H F ASCII Read —CENDO——
Channel 0
Destination M4[411] DN >—
0
SerialPort Control H40404 —(CER)>—
SerialPort Control Length 64
Characters Read 0
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READ
READ Active
Source MO00071
H40404.EN <MO0[4].9>
28 3k
READ
READ Error
Source MO00072
H40404.ER <MO0[4].8>
1 E
READ
READ Complete
Source MO00073
H40404.DN  <MO[4].7>
1 E
WRIT WRITE
Control WRIT Active
M10137 Source M00074
<M1[8].7> AWT <MO0[4].6>
29 5k ASCII Write —CEN
Channel 0
Source M4[539] -(DN)—
0
SerialPort Control H40475 —(ER)>—
SerialPort Control Length 64
Characters Sent 0
WRIT
Pause WRIT
Operation Error
M10138 M00075
<M1[8].6> <MO0[4].5>
30 5 F | AFI |
WRIT
Abort WRIT
Operation Complete
M10139 M00076
<M1[8].5> <MO0[4].4>
31 5 F | AFI |
PID2
Track Mode
M10141
<M1[8].3> BitArray[10]
32 7 |
PID2
Destination
Table
BitArray[10]  P40567.NOBC
/L——(
PID2 PID2
Action Destination
M10142 Table
<M1[8].2> P40567.CA
33 1 E
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34

35

36

(End)
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E:\ProWorx32.ACD
PID2 PID2

Auto/Manual Destination
M10140 Table
<M1[8].4> PID
5 F Proportional Integral Derivative
PID P40567 ...

Process Variable  M4[559]

Tieback

Control Variable M4[548]

0

PID Master Loop 0
Inhold Bit 0
Inhold Value 0
Setpoint 0.0
Process Variable 0.0
Output % 0.0
PID2 PID2
Destination Loop Invalid
Table M00321
P40567.EN <M0[20].15>
—
PID2 PID2

Destination High Alarm

Table M00322
P40567.PVHA  <MO0[20].14>
1 E
PID2 PID2
Destination Low Alarm
Table M00323

P405§7.FPVLA <MO0[20].13>

J L

JSR

Routine Name

Jump To Subroutine

LABOO1
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(End)
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